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Five photographers participated in a photo contest. Use the clues and logic to find out which award the Australian
photographer got.

Shirt: black, blue, green, purple, red Age: 30 years, 35 years, 40 years, 45 years, 50 years
Nationality: Angolan, Australian, Spanish, Russian, Prize:$1,000,$ 2,000, $ 3,000, $ 4,000, $ 5,000

Uruguayan Photo: animal, beach, car, mountain, person
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The Aussie is exactly to the left of the Spaniard. The South American is next to the photographer who
won $ 2,000.

At the the second position is the photographer who
took a picture of a Person. The photographer who photographed a Car is

somewhere between the photographers that

At fifth position is the 45-year-old man. photographed a Person and an Animal, in that order.

The photographer wearing the Red shirt is somewhere
between the photographer who won $ 3,000 and the
Uruguayan, in that order.

The 35-year-old man is somewhere to the right of the
man who is wearing the Purple shirt.

The photographer who was born in Montevideo is next

The participant who won the biggest prize is at the fifth to the oldest photographer.

position.
The participant who photographed a Car is next to the

The man wearing the Red shirt is exactly to the left of participant that is wearing the Purple shirt.

the youngest man.

At third position is the photographer who won $ 4,000.
The Spaniard is somewhere to the right of the _ o
photographer who is wearing the Purple shirt. The man wearing the Blue shirt is next to the

participant who won $ 2,000.
The photographer who photographed a Car is next to

the photographer who won $ 5,000. The photo of the Beach was taken by the 40-year-old

photographer.
The man in Red is somewhere between the Russian

and the 45-year-old man, in that order. The participant wearing the Red shirt is somewhere
between the participant wearing the Black shirt and
the Uruguayan, in that order.
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Five photographers participated in a photo contest. Use the clues and logic to find out which award the Australian

photographer got.

Shirt: black, blue, green, purple, red Age:

30 years, 35 years, 40 years, 45 years, 50 years

Nationality: Angolan, Australian, Spanish, Russian, Prize:$1,000,$ 2,000, $ 3,000, $ 4,000, $ 5,000
Uruguayan Photo: animal, beach, car, mountain, person
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The Aussie is exactly to the left of the Spaniard.

At the the second position is the photographer who
took a picture of a Person.

At fifth position is the 45-year-old man.

The photographer wearing the Red shirt is somewhere
between the photographer who won $ 3,000 and the
Uruguayan, in that order.

The participant who won the biggest prize is at the fifth
position.

The man wearing the Red shirt is exactly to the left of
the youngest man.

The Spaniard is somewhere to the right of the
photographer who is wearing the Purple shirt.

The photographer who photographed a Car is next to
the photographer who won $ 5,000.

The man in Red is somewhere between the Russian
and the 45-year-old man, in that order.

The South American is next to the photographer who
won $ 2,000.

The photographer who photographed a Car is
somewhere between the photographers that
photographed a Person and an Animal, in that order.

The 35-year-old man is somewhere to the right of the
man who is wearing the Purple shirt.

The photographer who was born in Montevideo is next
to the oldest photographer.

The participant who photographed a Car is next to the
participant that is wearing the Purple shirt.

At third position is the photographer who won $ 4,000.

The man wearing the Blue shirt is next to the
participant who won $ 2,000.

The photo of the Beach was taken by the 40-year-old
photographer.

The participant wearing the Red shirt is somewhere
between the participant wearing the Black shirt and
the Uruguayan, in that order.
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